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BC Calculus — 10.6 Notes — Ratio Test and Root Test j
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5. Which of the following series converge?
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8. Consider the series e [f the Ratio Test is applied to the series, which of the following inequalities results,
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| ‘Match the test for convergence of an infinite series with the conditions of convergence.

Convergence Test Condition of convergence
11. F nth-Term Test A p>1
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13. /1 p-series C. 0<a, <bh,and Z b, converges
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19. If the Ratio Test is applied to the series Z mrDl which of the following limits results, implying that the

series converges?
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